
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants ( exposants négatifs )

(−8) + 10 =(−2) 8 − 2 =

2 + 8 =2 1 + (−6) =(−1)

5 + 2 =(−2) 3 + (−7) =0

(−6) + (−8) =(−2) (−1) − (−4) =

3 − 5 =(−1) (−1) − 8 =2

(−7) − (−4) = (−2) + (−6) =2

(−7) + 8 =2 10 + (−4) =(−2)

(−7) + 6 =(−2) 8 − 2 =2

(−7) − (−4) =(−1) (−5) − 7 =(−2)

1 + (−4) =2 (−6) + (−1) =0
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants ( exposants négatifs )

(−8) + 10 = = 10(−2)

64
641

64
1

8 − 2 = 6

2 + 8 = 122 1 + (−6) = (−5)(−1)

5 + 2 = = 2(−2)

25
51

25
1

3 + (−7) = (−6)0

(−6) + (−8) = (− ) = (−7 )(−2)

36
287

36
35

(−1) − (−4) = 3

3 − 5 = (− ) = (−4 )(−1)

3
14

3
2

(−1) − 8 = (−7)2

(−7) − (−4) = (−3) (−2) + (−6) = (−2)2

(−7) + 8 = 572 10 + (−4) = (− ) = (−3 )(−2)

100
399

100
99

(−7) + 6 = = 6(−2)

49
295

49
1

8 − 2 = 622

(−7) − (−4) = = 3(−1)

7
27

7
6

(−5) − 7 = (− ) = (−6 )(−2)

25
174

25
24

1 + (−4) = (−3)2 (−6) + (−1) = 00
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